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Question Number : 1 Question Id : 8643513781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10%t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?
Options :
86435111341, 20 MHz

86435111342, 8 GHz

86435111343, 201 GHz

86435111344, 1987.5 MHz

Question Number : 1 Question Id : 8643513781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m(t) = 5sin (1.57 x 10%t) &% 5008 HoBS500D .8 To5E HoBSS C(t) =25 sin (2.512 x 10105
$0S SrBAS Mo, SPEBES roosads So88D HES Ike) Jod ?

Options :
86435111341, 20 MHz

86435111342, 8 GHz

86435111343, 201 GHz

86435111344, 1987.5 MHz

Question Number : 2 Question Id : 8643513782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r, and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
|| ||
| !
g
R
Options :
n I
3
86435111345, =
I
? | FE
86435111346, -
r Tr
86435111347. 2
T, r?_
86435111348

Question Number : 2 Question Id : 8643513782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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86435111345,
l%Irz
86435111346, -
86435111347, | 2
seaasiiiaag, L2

Question Number : 3 Question Id : 8643513783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will

be the mathematical expression of this travelling wave ?

Options :
Y(x, )=0.03 [ sin 5.1x ({]_2;.(1{]3};[ ]
86435111349
Y{I,— t}:{]{]"} [ sin 5.1x {15)( 1{]3:” ]
86435111350.
e a5 :
e6435111351. Y@ 9=0.06 [ sin 5.1x— (1.5x10%)t |
b R ’
86435111352, Y& 9=0.06 | sin 0.5x—(05x10°)¢ |

Question Number : 3 Question Id : 8643513783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

245 Hz %’“U&iﬁ:&&”ﬂ: He 2.8 e %o 300 ms 1 S88° Borsd r-0%0 HIE° [HairEol.

BBoian Ghog) (@28 dothy) Snoth-FHoED Sthendr 6 cm 3ndo trdsnnd THod. wonsd &

Options :

Y(x, t)=0.03 [ sin 5.1x— (0.2 x 10%)t ]
86435111349,

4/93



3/18/2021

Y(x, )=0.03 [ sin 5.1x— (1.5 x 10¥)t ]
86435111350.

s g e .
86435111351, Y@ 9=0.06 [ sin 5.1x— (15 x10%)t ]

, 1)=0.06 [ si : 3
86435111352, Y& 9=0.06 [ sin 0.8x—(0.5x10°)t ]

Question Number : 4 Question Id : 8643513784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘P, R being the radius of ‘P’. The time period of another satellite in hours at a
height of 2R from the surface of ‘I is . ‘P’ has the time period of 24 hours.
Options :
86435111353, 2

86435111354, V2

86435111355,

6
86435111356. V2

Question Number : 4 Question Id : 8643513784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R 6050 &rarydgin. e e50808n $008 1R JHE grdiar o et aHrssD

@
B, 2R QendP (00 HEME SHKETES Eomrdtsosn Kotiess
& 2
= uir =el - —o

Options :
86435111353, 2

86435111354, 632

86435111355. 3
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6
_Il.—
86435111356, <=

Question Number : 5 Question Id : 8643513785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical blocks A and B each of mass m resting on the smooth horizontal floor are

connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving with a speed v along the line joining A and B collides with A. The maximum

cnmpressinn in the sp rf_ng 15

G

A

=

m e

m

Options :

[m
loe
86435111357. V2K
m
(N
2K
86435111358.

|| ma

86435111359, ¥ K

mo

[ ]
=

86435111360.

Question Number : 5 Question Id : 8643513785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m —_— m | Y Y Y Y m
Options :
m
P}J’
86435111357, ' 2K
m
e =
86435111358, '2K
m
86435111359, 1 K
ma
2K
86435111360,

Question Number : 6 Question Id : 8643513786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring
constants K, and K, respectively. If the maximum velocities during oscillations are equal,

the ratio of the a_mpljtucle of A and B is

Options :
Ky
K,
86435111361.
Ky

ra

86435111362. K2
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.Kz

K
86435111363, !

—

IKE

s

86435111364, £

Question Number : 6 Question Id : 8643513786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥4

2353708 Lgﬁsf:é}@{é:m e Dot Beesoen, A s1Bcin B, Soth 5t:
£t

L o 2 £ ki 5 m o ¥ . v,
Mo (Bxoed 87 |§£ur(at:@£ (Perl DChalN. Fomre Dchind” o7& 10 Jrren SSrSIT

A 50000 B o Gwg) Zodd 00DHde I8
Options :
e
K2
86435111361.

Ky
VK2

86435111362

86435111363.

86435111364.

Question Number : 7 Question Id : 8643513787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11
List - 1

(a) Phase difference between current and voltage (1)

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i)

a pure inductive AC circuit

(c¢) Phase difference between current and voltage in  (iii)

a pure capacitive AC circuit

(d) Phase difference between current and voltage in  (iv)

an LCR series circuit

List - 11

.'.r
— ; current leads voltage

2

ZETO

i1
—: current lags vnltage

2

Choose the most appropriate answer from the options given below :

Options :
86435111365, @ (1) (D)), ()-(iv), (d)-(ii)

26435111366, @) (i1), (b)-(iv), (¢)-(iii), (d)-(i)
86435111367, 2 (1) (D), (©)-(1), (@)-(tv)

26435111368, (@) (i), (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 7 Question Id : 8643513787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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OF - 1500 & - I o edBdins.
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Options :

86435111365.

(@)-(1), (b)-(iid), (c)-(iv), (d)-(i)

86435111366, (@11 (B)-(iv), (c)-(iii), (d)~(1)

86435111367.

86435111368.

(a)-(11), (b)~(iii), (c)-(i), (d)-(iv)

(@)-(i1), (b)-(iii), (c)-(iv), (d)-()

Question Number : 8 Question Id : 8643513788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What happens to the inductive reactance and the current in a purel}r inductive circuit if the

f requency is halved 7

Options :

86435111369 Inductive reactance will be doubled and current will be halved.

10/93
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Inductive reactance will be halved and current will be doubled.

86435111370.
86435111371, Both, inductive reactance and current will be halved.
86435111372. Both, iI‘ldUCLing reactance and current will be doubled.

Question Number : 8 Question Id : 8643513788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B (ROES Sedsind” FS:PiEnd S MHoNSET” (REES SO E5SH HBD DS
Q ;

Options :

86435111369.
86435111370.

86435111371.

£, (Baalalar, AmElialal L allpy sl e —pad ol £ 3 o il
86435111372. E‘Ud}, Lauém_ﬂw aJ€90) ':::'D\Ax! 080D (aaTess S, &0 E‘U&U@Lnﬂ@’;m.

Question Number : 9 Question Id : 8643513789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms I goes up an

inclined plane which makes an angle of 30° with the horizontal plane, without slipping.
How long will the sphere take to return to the starting point A ?

A 30

Options :

11/93
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86435111373, 00 S
86435111374, 097 S
sca3s111375. 052 S
86435111376, OO0 S

Question Number : 9 Question Id : 8643513789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 kg |(Byor8 B TrEsm 0.5 m e a8 gsn 058 1ms~ ! & Seuind® 30° Soesin
: Y o 28
o Z =] ,F» e s =
Daboih) a8 Tren dosn D8 wrdHore Ihod. HE) FESH FOFSSn ADH 80A Toderdd
v Q@
Qo8 HDibdhbsn Mhébobd ?

i 30
Options :
86435111373, 060 s
86435111374, 097 s

%
86435111375, 0028
86435111376, 020 S

Question Number : 10 Question Id : 8643513790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
alwa}-'s risf_ng to ﬁ of the height T_hrough which it falls. Find the average speed of the ball.

(Take g =10 ms~?)
Options :

1
86435111377, 20 ms

1
86435111378, 220 ms

1
86435111379, 3.0 ms

1
86435111380, 20 ms

Question Number : 10 Question Id : 8643513790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jexold 5 mIE He (HAE08 2.8 St 2087 HLDTH. P8I0 Jedol 8 ADDHSHF O

: . 81 8
Qéﬁiﬂﬂ@& BeH o’ oy 100 TPHEDNE ADBNHenDinod. wond 2o cﬂnél_gr vl S8,

3

(Take g=10 ms~ %)
Options :

1
86435111377, 20 ms

1
86435111378, 220 ms

1
86435111379, 2-0 ms

1
86435111380, >0 ms

Question Number : 11 Question Id : 8643513791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v =v, + gt + Ft. Its position is x=0 at t=0; then its displacement
after time (t=1) is :

Options :
13/93
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IJ{}IEIF
86435111381. 2
% :
86435111382, Jo T 28 +3F
F
I?{}IEI—
2" 3
86435111383.
86435111384, 0t 8 HF

Question Number : 11 Question Id : 8643513791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2.8 Seax) IS v=0v,+gt+FE t=0 & oo FSdw x=0; (t=1) $SHE wrd FHgPodsw :
@ D e

Options :

IJ{}IEIF
86435111381. 2
% :
86435111382, Jo 28 +3F
F
Ii'.[].lﬁl—
2 3
86435111383,
86435111384, 0B FF

Question Number : 12 Question Id : 8643513792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A hairpin like shape as shown in figure is made by bending a long current carrying wire.
What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle 7
.-"'J'
L
P ] 31

I

-
Ca

[R—_— Y

Options :
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86435111385, <7

I

PO 2+ 7)
86435111386, 2™
‘ual

e ST
86435111387, 37T
ol

e
86435111388, 7

Question Number : 12 Question Id : 8643513792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.8 EPESS DS (Haessn KOF S 8RS et 2 (hairpin) o°f $¢508° JFHHEY HOITH
P & ffo edbarod g D0sreasn? P el @8 058 Frisne? Gothid ?
Do :
1
lr'J T
B |
+

Options :

86435111385, <f

I

é;ﬂ—(z k)
86435111386. <"
‘upl

P ok )
86435111387, *7T
i\

)
86435111388, =T

Question Number : 13 Question Id : 8643513793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :

86435111389, | aschen series

86435111390. Balmer series

86435111391 Lyman series

86435111392, brackett series

Question Number : 13 Question Id : 8643513793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
E . , ) I i 5 5 a8 ef “ N
PIE S $8Srn) S58e B SEdeSDne &S0 Tpoh. 8E & DoTrenE SPssin

]
e =

Cﬁj"#‘ﬁé rod (visible region) S» &% &otnod?

864351113809.

86435111390,
86435111391, = .

86435111392, = —= U

Question Number : 14 Question Id : 8643513794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical photocathodes receive the light of frequencies f, and f, respectively. If the

velocities of the photo-electrons coming out are v and v, respectively, then

Options :

P =

Zh
1 - S H{"h f2)
86435111393.
16/93
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> 2 2h
7 —m =—1f1 —fl
86435111394, m
i
Zh 2
m +o02 =|—(f1 +/f2)
86435111395. m
Z2h
o7 +03 = =fy +£]
86435111396. P

Question Number : 14 Question Id : 8643513794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

86435111393,
" 2h
v —n =—1hH —fl
86435111394, m
1
2h 2
 +o02 =|—(f1 +f2)
86435111395, m
?h
o7 +03 = =fy +f]
86435111396. P

Question Number : 15 Question Id : 8643513795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/93
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Which one of the following will be the output of the given circuit ?
T D=
D

—1) > -

Options :

86435111397, AND Gate

86435111398, NAND Gate
86435111399, XOR Gate

86435111400, VOR Gate

Question Number : 15 Question Id : 8643513795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al A 3 ad [
BN JodhyY GEBlisn 2b0?

= [

|
—

B
Options :

86435111397, AND 208

86435111398, NAND o0&

XOR 08
86435111399.

86435111400, [YOR 206

Question Number : 16 Question Id : 8643513796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 [} resistance is connected across BD. Calculate the current through the galva_tmmeter

when a potential difference of 10 V is maintained across AC.

Options :

86435111401, >34 RA

86435111402, 244 mA

86435111403, 187 RA

86435111404, 187 mA

Question Number : 16 Question Id : 8643513796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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NS (D& TE) ool ghadned® Ko IBESveD DEns® Wbl dorr odod. 150
ABEED Ko rrograredio BD ghHesind D1k, AC Hgks 10 V FEeHs S

EOSHONIHD rrexTrabesd Mhoae (HB5roD s (Hariridod B83)ohi.

Options :

86435111401.
86435111402.
86435111403.

86435111404.

Question Number : 17 Question Id : 8643513797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :
s6435111405, 1167107 kg 5™

z 2 1
86435111406, 009107 kg s

3 1
86435111407, >/ * 107" kg's

2 1
86435111408, o> <107 kg s

20/93
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Question Number : 17 Question Id : 8643513797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 kg (Esyord Mo as &3 8805 [@ord Bodsne &0 ods HOME 12 cm othsénrr
DD . 2 Aare Soxd Lods HOLS 6 cm D ENJ0. wand &8 JOdY WHDHE VTPoBHEDD
¥ [wi =]

" ] 1
86435111405, 107107 kg s

3 2 1
86435111406, 009107 kg s

i 3 1
86435111407, >/ <107~ kg's

3.3% 102 1
86435111408, >0 <107 kg s

Question Number : 18 Question Id : 8643513798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and 3 is the ratio of molar

C
specific heats for polyatomic gas [[:’: = {__PW then the value of 3 is :
5 v/

Options :

1.25
864351114009.

86435111410. 1.2

86435111411. 1.35

86435111412, 1-02

Question Number : 18 Question Id : 8643513798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
21/93
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Options :

1.25
864351114009.

86435111410. 1.2

86435111411. 1.35

86435111412, 1-02

Question Number : 19 Question Id : 8643513799 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

r'\
T «— adiabatic
p
isothermal
(a) (b)
vV—>
F
T le—isothermal
\r?
adiabatic
(©) EVd )
T—>

Options :
a) only
86435111413. )y

86435111414, (D) and (9)

3

isothermal
/<

adiabatic

LY
-

e

isothe rmal

i

%/

T—

ot

adiabatic

W

T—>
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86435111415, (<) and (a)

86435111416, () and (d)

Question Number : 19 Question Id : 8643513799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L. o - - a = . " i
Both T &BE (HEDOD HowoGodS & Bod D exran HOFIE ?

—

P p
\ SATRS
(a) rd (b) g
V—s r—

—_—
F A i 1\_@,}
¥ P e

; L
(©) e (d) PR
T—> T—>
Options :
(a) SRS
86435111413. z

86435111414. (b)
86435111415.

86435111416, (©)

Question Number : 20 Question Id : 8643513800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An Dbject is located at 2 km beneath the surface of the water. If the fractional cnmpressinn

AV s ) ’ 3 : : :
—— is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~* and g=9.8 ms ™ 2]

Options :
oy 5
86435111417, 1:96<107 Nm

86435111418, 144107 Nm™ 2

: Q 2
86435111419, 2-26>10° Nm

26435111420, 144 x10° Nm ™2

Question Number : 20 Question Id : 8643513800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5H& edbBonod 2km Bof ¥ SHD sodard. a.i0¥ @odd Soddssy,

1.36% ©owd, TrE08 B8owin Hbdn TFErOE D5Me Ay

Options :
86435111417, 1:96%107 Nm 2

86435111418, 144 >107 Nm™ 2

: Q 2
86435111419, 2-26%107 Nm

86435111420, 144107 Nm~2

Physics Section B
Section Id : 864351254
Section Number : 2
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351254
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643513801 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 uF capacitor C; is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C > 0n equilibrium conditionis __ pC. (Round off to the Nearest Integer)
S
S1 oS2
2 wF 8 uF
1ov] Tc, Te,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513801 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 pF 55080 C) 5 It 10 V F8RcHE FSnssd ol apgd 35fcHos DgmrSdsn
SR, aRd exgtodi Fenod NoErSdim 81 080 8 uF C, S L085. vowd ShTBst
C, 8% DiygeeSdsim nC. (98 %58 Jrgrod Sopgd DBOODK)
N 2
an __2 pF __B wF
1ov] T Tc,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513802 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of

friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g=10 ms 2]

W
E

W
)

i
LS

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643513802 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3

4 kg (Bgoednio a8 erentd, 5 kg (Bordne el 38) Gy Jeatetd. &5 bcin Jos

[ =

L)

) Eﬁﬁ;i a0dge eatsdn 0.5 oSS arents [BPED (DATAoSeRS (‘ﬁ@, o3 (&5 ) TR & ends
(2G5 Dol Sdedore {l—;utﬁﬁéﬁﬁﬂad@ N. (08 &8 roros ﬁu%éb Eﬁfjb’ﬂ.]
¥ L2 o L 4
Bt BT o ol a
[ 0805w g=10 ms™ <]

W
L

W
L

£
4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513803 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The image of an Dhject placed in air formed I:n, a convex ref ractf_ng surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

2
the surface. The wavelength of light inside the surface is 5 times the wavelength in air. The

. - :
radius of the curved surfaceis — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513803 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

& aal 3 : 3 i = = '
28 Doogrsed HBHREDS ¢lbdosin Sooth rdE° ¢odd i) (DHédonsdin el J:0¥ 10m
il B ol B - v LB A L '"2,./\.' o £ a
BETB30S wum&ﬂ& S8dono JuDHNl Hodw ob Sy Srdihod” 3 So8 pbS0E° &ob

x
13
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

A

m o8 X kN

Question Number : 24 Question Id : 8643513804 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

1”% E. Where the value of x=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513804 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S R B o 5 .
100 W axeq, sools Denadd 88y E..{iJJ{% S| &(s3é 3 m rtand® E wand et o 60 W

s’y Ny -

g o, y = Byl : % 4
DBEey DeE TS H58 \5 E escwnis

E:l [, = 5 x ==

&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513805 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Seawater at a frequency f=9x102 Hz, has permittivity £¢=80¢, and resistivity

p=025 {dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F imes the displacement current densit}f after time t = %q The value of x is

(Given : =9 x 10° Nm*C™?)

dmreg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
Question Number : 25 Question Id : 8643513805 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
9x102 Hz, P55 B BHE0E% HA 58828 £ =80, 508050 IPSES =025 Om 2.8
= 00 BE \CIad) o 0 f

B35rods Dot 940 IHnEH IBS® wod el sodl wdEim V(t)=V, sin2xft) &

5ODSE) &8rointiod. vand FE ® (Harer Froleis %:JL;;’UE S (HaPsF FollES

1
t= %q“m@ Teond 10° Téyp wawd x Dens
iy 50 e
(oS : — 9 x 10° Nm*C™?)

—1-’:TI:'{}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 26 Question Id : 8643513806 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= 2 A 3 A
The electric field in a region is given by E = EE{} -] EE{}; with Ey = 4.0 x 1[]3%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y~ Z plane is
e Nm=C L.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643513806 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 s 2 3 - ,
.8 [Frodsim &7 Vs 38 858 E = EE.{]. i EE{};KJEJJLD Ey = 4.0 x103= o8 Y-Z
SoS0IH JSrodBIre &F) 0.4 m? 65080 Jexsin o el Y SBYFFEY Sokn o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513807 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

3w

a x
Lol
a 31

I

x is . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513807 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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E.’-..-é ;,.-D\!E'ﬁ.ﬂ ?:3"':" Q"_"% I"'u'l- ;D\.J\.Jh‘:x' %ﬂdéﬁ.} o0 "'?;‘.9’ r i"{lff..-" Eué“ \'.\J'fl:-'o.mfﬂ {ybégﬁaﬁ& 1 4 ;‘3 ;3(.}{“.5.:' Iigj{ﬁ-:_,'

x "
'3 W@m&xm""é
" (L

L | =
g |
9 |

(08 &SNS grgrol Dogyd D00 NN)

[a &5058 Szrexsin]

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513808 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the bocl}-' move h}-‘ appl}’f_ng the minimum pnssible force

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 28 Question Id : 8643513808 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg La;ﬁsf:é}'m% fo 5305 a8 88 8rodd Jo ah aNh. HpDHID Hbd Jud ﬁ%%ﬁb

=

: 1 i
:3&5 abtga rpeaBadn 7 eéce)) 2ekn FN & [HArAod &

Sy e
- ALt
2ol -0 =

[ 85550 g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513809 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r)= Uﬂr"". If

3
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where

o 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513809 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2.8 Sofoe ) U(r) = Uy §8506° .8 m (B550r8 Ko Snsn Soeeed €5i6° a85rhda. &6
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513810 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Supp ose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 em? of oleic acid per em® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

5
dius | —
racius (4[}:_/'

=

x 107 cm. Then the thickness of oleic acid layer will be x x10~ 14 m.

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513810 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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1
Traiesn) &89 8ot mﬁ“‘ct&m ( _FT X107 em e 100 HothHes LD a8 Hewisd)
S (4 cnga?@é;’m He) D% e H08508 SSrHTnsS o L8 udf winddSTnsy
xx10 ¥ m, ead x Jend . (08 THEre SJrTRol Doggdh H5800R)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Chemistry Section A
Section Id : 864351255
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351255
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435111431. 5

86435111432.

03
86435111433, -
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CL,0O
86435111434. =

Question Number : 31 Question Id : 8643513811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ § =5 ‘
ad)d wedos® BPAD =& 28 ?
Options :

86435111431, V3

I

NO,
86435111432.

86435111433. O,

86435111434. L0

Question Number : 32 Question Id : 8643513812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

() Nyg) + 3Hy(g) — 2NHy(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
s6435111435. ¥ (B): (C) and (D) only

86435111436, (A) (C) and (E) only

86435111437, (A) and (E) only

86435111438, () 3nd (C) only
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Question Number : 32 Question Id : 8643513812 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Bol (HIEched” FEE” Jo|E°R EddEod ?

(A) 0°C5E A%, HodHre HAFSso Bohes

(B)

10°C 56 b, o 5pdgisso Jothe

(€) Na(g) + 3H,(g) — 2NH;(g)

(D) BE &38&w0 CO(g) @b8%hsn

(E) BS® NaCl 5656

Options :

86435111435, (A) (B), (O £8050 (D) SFEDH

86435111436, (A, (C) 50060 (E) S(&

86435111437, (A) 30000 (E

86435111438, (B) 080D (C) &

Question Number : 33 Question Id : 8643513813 Question Type : MCQ Option Shuffling : Yes Is

f
é
G,
é_,'-l' ]

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the coagulation of a negative sol, the species below, that has the highest flocculating

power 15 :

Options :

Baz b

86435111439.

Na*

86435111440.

POj

86435111441.

e
SO3

86435111442.

38/93



3/18/2021

Question Number : 33 Question Id : 8643513813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s o B sl uf sl ad y oy 3 PR - I 8, 5 T T e
xﬁ)&.‘@"ﬁ.ﬂéa s o D)oissn moherd, Bob 88" T8 %@5&3—; ESjlelaty i‘“m?ﬂ

G,

0 &0tnok ?
Options :

A2+
86435111439, ba

b
86435111440, V2

\3
)
86435111441, © 4

i
86435111442, S04

Question Number : 34 Question Id : 8643513814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set of elements that differ in mutual relationship from those of the other sets is :
Options :

86435111443, be - Al

86435111444, B-Si

86435111445, L1i-Na

86435111446, B~ M8

Question Number : 34 Question Id : 8643513814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O

. 3 ad Y o X a .'—f: il _ . -
288 Hibébe ool 0'3&3;5 Jonotre Son L86oh Sresre S308

Options :
86435111443, B¢~ Al
86435111444, B~ 51
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86435111445, -1—Na

86435111446, -1~ M8

Question Number : 35 Question Id : 8643513815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Haematite () AlLO;xH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (iii) CuCO5;Cu(OH),
(d) Malachite (iv) FeyO,

Choose the correct answer from the options given below :
Options :
86435111447, (@)r(1), (b)-(ii1), (c)~(ii), (d)-(iv)
86435111448, (@)-(id), (b)-(i), (c)~(iv), (d)-(iii)

86435111449. (@y(iv), (b)-(i), (c)-(it), (d)-(iii)

26435111450, (@)-(1), (b)(iii), (c)-(1), (d)-(iv)

Question Number : 35 Question Id : 8643513815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o - 11 &° erdar - 1D 2808%h5

det -1 wrdoe - 1
(a) eso&ed (i) AlLO;xH,O
(b) B (ii) Fe,O,
(c) Soerf8& (ii) CuCO,-Cu(OH),
(d) eSS (iv) Fe;O,

Options :
26435111447, @)F(1), (b)-(ii), (c)-(i), (d)-(iv)

86435111448, (@r(i1), (B)-(1), (c)-(iv), (d)-(iii)
86435111449, @-(V), (b)}-(1), ()-(i), (d)-(iii)

seansii1ago, @), (B-(iid), (©)-(0), (@)-Gv)

Question Number : 36 Question Id : 8643513816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The functional groups that are respmmii:-le for the inn—excha_nge property of cation and anion

exchange resins, respectively, are :

Options :
SDEH and NHP_
86435111451. :
86435111452, g and —COOH
NH, and —SO;H
86435111453 ~
86435111454, Fomm mne SELEM

Question Number : 36 Question Id : 8643513816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

41/93



3/18/2021
Correct Marks : 4 Wrong Marks : 1
SOCIPS 8 ANIPS DVNGD TAIS © edire -

~

HSesFen SN

Options :

86435111451,  SO3H £8dh ~NH,
86435111452,  NHp 0505 — COOH
86435111453,  ip #00Cm —SO;H
86435111454, OO3H 06d5n — COOH

Question Number : 37 Question Id : 8643513817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH3 from Solvay process is :

Options :

NH,CI
86435111455,

Ca(OH),
86435111456. 2

86435111457, —2Ch

NaHCO,
86435111458, :

Question Number : 37 Question Id : 8643513817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a5 o e 2 rE e ST v D e
o G588 N’H;J;n:l: (=% (recovery) & a-:ti:d\) ersnesdésoed® a8 erdesdesm
=] - e ;

Options :

86435111455. e

86435111456, —2(OH)

86435111457, 2k
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86435111458, [NaHCO;

Question Number : 38 Question Id : 8643513818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set that represents the pair of neutral oxides of nitrogen is :

Options :

NO and N,O
86435111459. i

86435111460, 20 and NO,

NO and NO,
86435111461. =

N,O and N,O,
86435111462, -~ I

Question Number : 38 Question Id : 8643513818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ = o = o ol i i
JE°e0 T $LY @50 © 2odD BHIL 26 ?
3 G ==

Options :

NO s58d5» N,O
86435111459. =

Ay Y
86435111460, 1120 000 NO,

&K

Sy PLY
86435111461, VO 000 NO,

LBy e
86435111462, TN20 #00&w NyO,

Question Number : 39 Question Id : 8643513819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The common positive oxidation states for an element with atomic number 24, are :
Options :

86435111463, t1 10 +6
43/93
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86435111464, T21t0 +6

86435111465, ' L and +3to +6

86435111466, + 1 and +3

Question Number : 39 Question Id : 8643513819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

it nd ol % o - 8
S8 s5oee0 pﬂuazz':'l 24 Ko Sxreis) Jrdoe {ﬁmtﬁ“fg% *E—;"l%i‘éb’w aogoen) ¢

Options :
F1 ool +6 56%

86435111463.
Bt g
86435111464, T2 00& +6 58
Lo py ot o s
86435111465, T 1 000D 43 Dol +6 S

86435111466, T 1 5000 +3

Question Number : 40 Question Id : 8643513820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHai)gl [Cr(CN)g] (i  Linkage isomerism
(b) [Co(NH;); (NO,),] (i) Solvate isomerism
(c) [Cr(H5O)s]Cly (iii) Co-ordination isomerism
(d) cis-[CrClL(ox),]? (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
86435111467, @), (b)-(i1), (c)-(iii), (d)-(iv)

06435111463, @FD, (B)-(1), (0)-(iid), (d)-(iv)
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86435111469. (a)-(iit), (b)-(i), (c)-(ii), (d)-(iv)

86435111470, @Hv) (b)-(i), (c)-(iii), (d)-(i)

Question Number : 40 Question Id : 8643513820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

har - 11 &8 =0 - 1D a8%hHS5n
egriar - 1 sdar - 11

(a) [Co(NH,),] [Cr(CN),] (i) o8 J%o

(b) [Co(NH;); (NO,)4] (i) #é;ﬂ:’f_ ﬁ’;fﬁ‘;ﬁéﬁ}
(©)  [Cr(H,0),IC, (i) SEAH e
(d) cis-[CrClL,(0x),]? (iv) &8 reHIso

8ol ed)jsred” SOGENN earenid I8

Options :

86435111467, @ (1), (b)-(ii), (¢)-(iii), (d)-(iv)
86435111468, (@)~ (1), (B)-(1), (c)-(iid), (d)-(iv)
86435111469, @)1, (b)-(1), (c)-(ii), (d)-(iv)

86435111470, @), (b)-(ii), (c)-(iii), (d)-(1)

Question Number : 41 Question Id : 8643513821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth

Choose the most appropriate answer from the options given below :
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Options :
86435111471, (A) only

86435111472, (B) and (D) only

86435111473, (©) only

86435111474, (D) only

Question Number : 41 Question Id : 8643513821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O50|¢PHEAS (eutrophication) % Bo20§0d (B0 O D56/ ISBmen DTS By 25H?

- -

(A) @68 Ireths® JhdHe IDTrKo

! =] = ey

Options :

iy
86435111471, (A) SFSD
86435111472, (B) 8% (D) Sr(@

e 2
86435111473, (©) 5F(&

(D) S|

86435111474.

Question Number : 42 Question Id : 8643513822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl's method for which of the following compound ?

Options :
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86435111475. NO,
86435111476. RN
fj
=
86435111477. N
— + - —
86435111478,  N=NC
Question Number : 42 Question Id : 8643513822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Bod & Eﬁﬁbé_ﬁm‘éﬁé Ferd ééé‘ﬁb T Do BHOWSE ?
Options :
86435111475.  NO2
CH, —NH,
47/93
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,J-“'f

S
86435111477. N

-
86435111478. N=NCI”

Question Number : 43 Question Id : 8643513823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435111479, (A) only

86435111480, (B) only

86435111481, () and () only

86435111482, (P) and (C) only

Question Number : 43 Question Id : 8643513823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q08Z0tS (ambident) SREITrDS (v) SO@S wobs(ewn) :
(A) AgCN/KCN

(B) RCOOAg/RCOOK

(C)  AgNO,/KNO,

(D) Agl/KI
Options :
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NG

86435111479,
Lo 36

86435111480, \B) S°IB3

86435111481, (B) 8 (C) &Sr(ED

86435111482. (B)

Question Number : 44 Question Id : 8643513824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,,.
Choose the correct option :

Options :
86435111483 Both statement | and statement 1l are correct

86435111484, Both statement | and statement Il are incorrect

86435111485, Statement 1 is correct but statement 11 is incorrect

86435111486. Statement 1 is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643513824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(S0l Both SGeeen BERTTA.

DsBes - 1: 2-508S w588 KMnO, & ed)88e0 mad 2-088 anisd —2-68 b
= - o s = &
Dt%es - 11: n—@égrm a0 Kh-h{]‘iéﬁs' T8 aHirEd ﬁéﬂ%ﬁ"’ﬂfﬂ.}.ﬁﬁ“ @%ﬂéému W@Uﬁﬁfﬂ;.

20N wisEy @;’gr
s .

Options :

86435111483 wRdes - 1500050 280 - 1l en H8EHHD
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26435111484 wede - 150000 Q60 - 1l en J6E@HD =05
86435111485 Wes - 1 58GHJG 570 dBes - 1136GH[E 50t
86435111486 NSy - 1358GHA0 s0th =20 Qe - 11 0GR

Question Number : 45 Question Id : 8643513825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement rega_rdmg the formation of carbocations A and B given.

e
»> CH__’.!_ - CHE - CHE b CHE + Br_
L A’r

'CH-';— (:Hz —CH = (:'Hz + HBr

+
> CHy — CH,—CH—CH;+Br~
.f.-"Bﬂ

Options :

26435111487, —arbocation A is more stable and formed relatively at slow rate

86435111488, Carbocation B is more stable and formed relatively at slow rate

R64351114g9. —arbocation A is more stable and formed relatively at faster rate

86435111490 <Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643513825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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D5 o BhaieSen A 50805 B o Ho2odod) H8FS 5865 aa&:&?u&.
Ca

e

+
> CH'; — CHE - CHE - CHE + BI'_
.r.-'ﬂu

CH;—CH, —CH=CH, + HBr

}
> CH-’; = C‘Hz— CH —CH-'; +Br—
HI}”

Options :

86435111487.
86435111488.

86435111489.

86435111490.  © @

Question Number : 46 Question Id : 8643513826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CpHpOp +HyO —22E A, CoHy,06 +CeHip06
Sucrose Glucose  Fructose
- Enzyme B - -
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435111491 nvertase and Zymase

86435111492, Zymase and Invertase

86435111493, nvertase and Amylase

86435111494, Amylase and Invertase

Question Number : 46 Question Id : 8643513826 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QOB A
leHﬂ{jH f HE{_-} —3 {._()lef_-}ﬁ f {'—ﬁle{jﬁ

'S 5SS EES

g0 BB e O ITI0

2 S8od® JoBa A 00d doBZw B en S8 :

[€a)

86435111492, °

86435111493, =

86435111494.

Question Number : 47 Question Id : 8643513827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,
(A)
In the above reaction, the structural formula of (A), “X” and “Y" respectively are :

Options :
N3 OCH,

>W<

+ HCI

86435111495. Cl
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N, OCH,

T
;' CH3—C-H, HO

86435111496. Cl

1_

Ny C
I> N f\
o H,O

OCH,
86435111497. -

N, Cl-

T
+  CH3-C-H ,6 HCd

OCH
86435111498. 3

Question Number : 47 Question Id : 8643513827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OCH,

(A)

2 S%E° (A), “X” 8chy “Y” o Joveren Sdre

=

N; OCH,

i :H
CH O H - HC
Cl

86435111495.
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86435111496. Cl

86435111497.

OCH,4
86435111498.

Question Number : 48 Question Id : 8643513828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435111499 Chloroform and KOH

26435111500, Benzene sulphonic acid

86435111501 para-Toluene sulphonyl chloride

86435111502, Acetyl amide

Question Number : 48 Question Id : 8643513828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2508, Eoxd H0un BEH ©nd o BIV &3@BrAc I DaHSEy ?

i L

Options :

86435111499
86435111500, - V94

86435111501. Bt

86435111502, ¥™=Y ©

Question Number : 49 Question Id : 8643513829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IL

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (i)  Artificial sweetener
(c) Sodium benzoate (i) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435111503. (@)1, (b)-(it), (c)-(iv), (d)-(iii)
86435111504. (@)(it), (b)-(1), (c)-(iv), (d)-(iii)

86435111505. (a)-(iv), (b)-(iit), (c)-(it), (d)-(i)

86435111506, (@ (1), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643513829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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dar - 11 8 oor - 1 5 a85%5hsSD

el -1 i e ||
B SEyEso S3@riSn
(a) PoESE () Do SeRsFEs
(b) %0508 ey ANDS A6 (i) %@ SBsevssw
(c) B&cho Bo&tabeS (i) cSrod HHE e
(d) DBIrFS (iv) oI Swrore SosEEsw

S0 adod MHbohdm
Options :

86435111503, @F (D, )W), (1), (d)-(iii)

86435111504, @ (i), (D)-(1), ()-(iv), (d)-(iii)
86435111505, @)-(v), (B)-(itd), (c)-(i), (d)-(i)

26435111506, @)-(11), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643513830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :
Options :
86435111507. Aldohexose

86435111508, etohexose

86435111509, Pyranose

86435111510, 11eptose

Question Number : 50 Question Id : 8643513830 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 5 Bona s jatoas
PE S TS ewrrdes ?

Options :

86435111507, ~ &

86435111508. o

=,
86435111509, &

86435111510, = &

Chemistry Section B

Section Id : 864351256
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351256
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The number of chlorine atoms in 20 mL of chlorine gas at STP is 10 (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP
R=0.083 L bar mol~! K~1, N, =6.023 x 107

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 51 Question Id : 8643513831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP $& 20 mL %83 arcimds® &) ol HvSrede Dogy 1021, (sszeenidd
i iy vy
&8 Sroroseld 83k )

]

£ul

— o B
[%j&aa e PN Wit uin.

(%

R=0.083 L bar mol ! K~!, N, =6.023 x 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 5 mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K :39.1u, Br: 799 u
N, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr & 105 3»& 380 Ke SrBr, & &55 I, 1g KBr)@%os® &%) 30058 grde Dogy
101, (zarendd G0 Jrpostd [0 Do),

[s36&5mea0 groeen : K : 391 u, Br:79.9u

N, =6.023 x 1023]

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643513833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%x 107! BM. (Round off to the Nearest Integer).

[Given: 3 =1.73, /2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

geR88° i) Fe(Z=26) Gng) Yo Srl@Dh ochdmod (grsbsm x10-1 BM.
&g

[V3 =173, 2 =141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643513834 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 1 molal K Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.
The molar mass of A is __u. (Round off to the Nearest Integer).

[Density of water = 1.0 g cm™ 7]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513834 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a8 137 K Fe(CN), mrdiend D5l o6 0.4. & gryefsd ko, 181 grbedo Ko
ODE DI ([TOED0 A LOAS BoE ([End) FPISS P DEeSSn. A &Y
Srerd (Boed u. (zarend S48 Jrrowld H8 Ichisin)
[& oS = 1.0 gem ™I
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 55 Question Id : 8643513835 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Consider the reaction N,QOy4(g) === 2NO5(g)- The temperature at which K(_.= 204 and
Kp=600.1, is K. (Round off to the Nearest Integer).

[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513835 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Bol S5 D080k,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513836 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KClI solution of conductivity 0.14 S m ! shows a resistance of 4.19 €} in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is %x1072S m~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513836 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8 TP Poeod®, TEEE0 0.14Sm~1 Ko KCl prdens) 8%655m 4.19 Q- o8 shtod® HCl

[TP&ese)y Ao Tl D&%550 1.03 0 & $hod. HC (trdey aeosiEd X1~ =

g

Sm~1. (erenidy SK58 JrTros8 K6 Dckosm).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 57 Question Id : 8643513837 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A 4 Ii'n2 — 2AB is an elementar}-' reacltion.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513837 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513838 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is
(Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643513838 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o £ ] ‘_ - B ’ o LT s Aot B
KOH E9AS eo(irdenod®, esm)D8 espod’ FeCl, Jr8 S8 2Bu3Htd, [airadio AdB&od.
| EuﬁmﬁJu A &° Fe Go¥) Ftelnls IS . (ezorend S1O syrTrostRS BB Tafosim).
i ¥ 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513839 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H,,O) is

to the Nearest Integer).

(Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513839 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

DTS 8B & D Iwdo C-C ?Ji"'f‘g 2oGPw IS0 53051;5 . (easpendy 8516

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 60 Question Id : 8643513840 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O
| 0
&
~al ) H )
+ CﬁHENHC,ﬁHS e Lf}l 15—{_— [\.—{{._61 ]5]2
0.140 g 0388 g 0210 g
Consider the above reaction. The percentage vield of amide product is . (Round

off to the Nearest Integer).

(Given : Atomic mass : C :120u, H: 1.0u, N: 140 u, O : 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513840 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I
i
=
+ C&] 15N] ICEE IS —_— CﬁHE_C_N_{CﬁHE}E
0.140 g 0388 g 0210 g
2 55}1: 58400050 D& (Bdiress ﬁ, &ivad a0 (e3a7ee0s ESP.EJ a;?:r;ius%%

(e groren C: 120w, H: 10w, N:140uw, O:160u, Cl: 355 u)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351257
5

Online
Mandatory
20

20

80

Yes

1
864351257
Yes

Question Number : 61 Question Id : 8643513841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

” A . e 1 (i . i
The number of solutions of the equation sin 1[12 I E] F cos 1[1‘2 ;1 = IZ, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is:

Options :

86435111521, U

-2

86435111522.

86435111523, 4

86435111524, Infinite

Question Number : 61 Question Id : 8643513841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4}

[x] 38 x5 TP ‘%Q q;tfacusvﬂa

xe[ -1, 1], Go¥) eishe Bﬁua:é:'l .
Options :

86435111521, U
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2
86435111522, <
86435111523, *

86435111524, €080

Question Number : 62 Question Id : 8643513842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (p~q)®(p=q) is a tautology, then ® and = are respectively given by :
Options :
YR,

86435111525.

86435111526, ¥

86435111527. '

86435111528. "

Question Number : 62 Question Id : 8643513842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aPDAHS BEFS0 (pAq)e(peq) @38 a8 I
Options :
86435111525. " ¥

86435111526. »

86435111527. '

86435111528. "

Question Number : 63 Question Id : 8643513843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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— Y ey ey — ) A A
Let O be the origin. Let OP =xi + yj kand OQ =—-1 + 27 + 3xk,x,yeR, x>0, be

=

such that [PQ| = 20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,

—3 =
z € R, is coplanar with OP and OQ, then the value of x2+ 12+ 22 is equal to :

Options :

86435111529 1
86435111530, 2
86435111531,

86435111532, ¢

Question Number : 63 Question Id : 8643513843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— M A M A A Y

0 Sare DolSSS el . OP =xi 4 yj — k 8w OQ =-i + 2j + 3xk,x,yeR x>0,
5 # | _-> Fm o | _> ._} & 2

od SO0 PQ| =420 @i dodar, OO & OP S04 oo &ods

C‘lﬁﬂ

"_5 __:" y .f:‘ _f':_ iy £ . t ﬁ il _) "5 s u’S’\ X ] 2 2 5
B°06.OR =3i + zi 7k,zeRe3 386F OP 5H8dn OQ o8 ddadhorr o8, x~+y-+z°

. il [ -
Emci,} ey -

Options :

86435111529, 1
86435111530, 2
86435111531,

86435111532, ¢

Question Number : 64 Question Id : 8643513844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 442 «x
of the matrix |4 5.2 y is zero, then the value of k% is -
5 Kk z

Options :

86435111533, ©

86435111534.

86435111535, ~

=]
2

86435111536.

Question Number : 64 Question Id : 8643513844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 42 x
&&° sotae SPBE |4 5.2 y | BoE) JoesEo oy
[ ._'J b

5 k z

. el
d Sorodo (x #3d) ™ x,y, zew @03

L)

5 "} oy
aona, k* iﬂnégr ey -
Options :

86435111533, ©

86435111534.

86435111535,

=]
2

86435111536.

Question Number : 65 Question Id : 8643513845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan(w co 5.2[]]

The value of the imit lim

- 5 is equal to :
8—0 sin (2 sin™0)

Options :

1
86435111537. 4
1
;
86435111538, 2
1
86435111539, 4
0
86435111540,

Question Number : 65 Question Id : 8643513845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(m rn_u.zﬂ‘_l

lim @n%) Dens -

B0 sin (2m sin”0) .

Options :

1
86435111537. 4

1
;
86435111538, 2
1
86435111539. 4
0
86435111540,

Question Number : 66 Question Id : 8643513846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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10[. _1
. Py R 3 : :
If the integral —————dx =ae "+ Pe t v, where w, (3, v are integers and [x] denotes
z 0 &I B

the greatest integer less than or equal to x, then the value of a+ § + v is equal to :
Options :

86435111541. 0

=

86435111542, 10

-2

86435111543, 20

I~2
wn

86435111544.

Question Number : 66 Question Id : 8643513846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a, B, v o0 Jrorosten, [r] I8 x ord A8 rdfo wond, SIrLo

1

10 -
sin 27y = .

j %d_’,t’:n[' 1| [:]JC'Z|‘,-',’$=':C.J.DEI L'Ifllﬂl"r'iﬁljég‘_;wé‘

0 e :
Options :
86435111541,
86435111542, 10
86435111543, 20

25

86435111544,

Question Number : 67 Question Id : 8643513847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the curve y=y(x) is the solution of the differential equation

5/ 1/ 9/
2(x? 4 x4)dy—y(x + x*)dy= 2vx* dx, x > 0 which passes through the point

4
(Ir 1 3 iogei] , then the value of y(16) is equal to :

Options :

31 8

86435111545, 4

(2 - 2 1og)
3 3 e,
86435111546.

(E I 0 Iogeﬂ
3 B

|

86435111547.

ol
P i P
86435111548.

Question Number : 67 Question Id : 8643513847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5/ 1/ 9/
w5t HEhssSno 2(0% + /4) dy - y(x + x/4) dx = 20 dx, x >0 @B FFS w5y =y(x)

. 4
ol HBo Hotha (L 1 =y 198&12] oo B&Hod y(16) Tho%) Dendd

Options :

86435111545.

oL 2.
86435111546. )

3. 8
(? I Elogeﬂ

86435111547. %
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4 B3 I e log, 3]
3 3 il
86435111548.

Question Number : 68 Question Id : 8643513848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

'Wis
J

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _%, ¥(0)=0. Then, y(%

equal to :
Options :
210&_{3\@ 8)
86435111549. . 4
EIGgH [\ﬁ l ?W
86435111550. .2 )
' 3\
ZIGgF {—Eﬁ +9 |
2
86435111551,
zmgﬁ[?ﬁ | 101
86435111552. e

Question Number : 68 Question Id : 8643513848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P SV N B Y : : e g i i 3 . TI'
wifold S88mo cosx(3sinx +cosx +3) dy= (1 +y sinx(3sinx + cosx +3))dx, 0 =x =5

y(0) =0 B%) 3455 y=y(x) e 0d. edto y| g} ;

Options :
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EIogE(S\E 8}
86435111549, g e g
EIngE[‘E l ?W
86435111550. .2
210&{2(|9|
86435111551, :
zmgﬁ[zﬁ | 10}
86435111552, ¥ o

Question Number : 69 Question Id : 8643513849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

|| 2 —si W a2 00
Consider the function f: R — R defined by f(x) = 4'{ "*H"\. ]; el s . Silhen il
| 0 . x=0

Options :

monotonic on (0, =) only

86435111553.

monotonic on ( — =, 0) only
86435111554. 2
86435111555 monotonic on (— =, 0) U (0, =)

not monotonic on (— =, 0) and (0, =)
86435111556.

Question Number : 69 Question Id : 8643513849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
]2 qm(— o PR i . ;
f:R—Re o mmmu f(x) = 4[ \ X =, x # D ADodala, adpld foldd :
|

0 , x=20
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Options :

0, =) SreEgh 288N
86435111553, = ©

(-, 0) D SRED b0
86435111554, = "

( ,0) U (0, ) 28830
86435111555. = &

- rn SaBaS []r o) D ’ojvfa.‘*’» oo

86435111556, K e LpEE0ce 10, ) i ebligio &

Question Number : 70 Question Id : 8643513850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

: [r] + [2r] + ... + [n1]
li
lim > ,

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :

Options :

86435111557,

r

86435111558, 2

86435111559, 2T

86435111560. 0

Question Number : 70 Question Id : 8643513850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[r] 36 rd wedd KO FrTroseR) PO,
(=% (5 ] [= 9 —
I Ir]+[21] +.... + [nr] r gt o e e
- A AT LT & - A y o L T Y. T
ni“ =, , GB08) Send [S.cl_)rff r 'oﬁaé)ﬁ_ﬂd oL pau%jl—

Options :
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86435111557, ©

ra =

86435111558.

86435111559, 2T

86435111560. 0

Question Number : 71 Question Id : 8643513851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with pmhahﬂit}-' of occurrence of 0 at even places be = and pmbahﬂit}-' of occurrence of 0 at

1
the odd place be 3 Then the probability that “10" is followed by ‘01" is equal to :

Options :

a
86435111561, ¢

!
86435111562. ©

1

=
86435111563,

¥

86435111564, 18

Question Number : 71 Question Id : 8643513851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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S

2.8 Bowrad (HerdE 0,1 @oSwid Srg@ah S0AN &eRogriirkdod’d Doged alodRohdd

] o 2 =]
e = B s = o - Ty 1 o By o, o, = i
St *:5@ poggod” REhogy N rad” 0 & ROgPaL S E 00w ooy JrTred 0 &
& : N o

o “
ﬁua;‘&ﬂz';:”ﬁ' 3 ﬁ;uﬁ)&ﬂgutﬁi&)éﬁu&. i 10 % Eﬁ;{.}'ﬂja ‘01’5 Siuw‘fa”:éia'
Options

a
86435111561, ¢

1
86435111562. ©

1
86435111563, °

k!

86435111564, 18

Question Number : 72 Question Id : 8643513852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :
86435111565, 00

86435111566. 364

86435111567. 333

86435111568. 220

Question Number : 72 Question Id : 8643513852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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=

|82beo ABC &° gheren AB, BCih8din CA en @2 woddore Stdrr 3, 550805 6 Sothy

o SOA aTow. e g Doty dopgn ™ AGoUNe Iwdo (Bhero Jogy !

Options :

86435111565, 200

86435111566. 364

86435111567. 333

86435111568. 220

Question Number : 73 Question Id : 8643513853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x2+ y>=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then 2 is equal to :

Options :
125
86435111569, /2
625
72
86435111570,
529
86435111571, 0%
'585
86435111572,

Question Number : 73 Question Id : 8643513853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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£)80 2+ =25 R(3,4) Dothd 5 5589 1-0g0 HOCD Y50 eH SWIM™ PHodS

wit!

Q, DothHe 3¢ L EHsiod. (Bghao OPQ @n¥) wods Sogod Sol@orr ¥9A Hre

Doth O oce b H¥o sy Po r vond, ri=

&

Options :
125
86435111569, /2
625
72
86435111570.
529
86435111571, 2
585
86435111572, 0

Question Number : 74 Question Id : 8643513854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS,, 5; and S; be three sets defined as
S, = {ze C:[z—1| =42}
S, = {ze C: Re((1-1i)z) =1}
S; = {ze C: Im(z) = 1}
Then the set 5, M 5, M 5S4

Options :

86435111573, Das exactly two elements

86435111574, has exactly three elements

86435111575, 1S @ singleton

86435111576, has infinitely many elements
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Question Number : 74 Question Id : 8643513854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S,, S, 50800 S; T L BIvHen

S, = {zeC:|z-1| =42}
S, = {ze C: Re((1-1)z)=1}
S; = {ze C: Im(z) = 1}

0B A DBo @508, 9HH S NSNS e IDE

Options :

& C SarerDeen Bes
86435111573, “OTE DOt Swreseen Suiy

86435111574, %

86435111575, &8 S0TOE0 Mo [abd

86435111576.

Question Number : 75 Question Id : 8643513855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~*sinx. If F: [0, 1] — R is a differentiable function such

: x 1 :
that F(x) = t) dt, then the value of | (F'(x)+ f(x))e"dx lies in the interval
) ) ~
0

Options :

330 331}

86435111577. [36{] 360

'[32? E}
360" 360

[z,
360 360

86435111578.

86435111579.
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[335 336}

86435111580, -200 360

Question Number : 75 Question Id : 8643513855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f:R > R o038 f(x)=e~*six 3 & Do @H8%0&. F:[0,1] > Raf oS58adcdh (Hddho

L

| I Com | |
©5E» F(x) = L £(t) dt e, J{](F'(xn Ff(x))edx eod wosso

Options :

il
360" 360

'[32? EEE}
360" 360

[331 334}
360 " 360

86435111577.

86435111578.

86435111579,
'[335 336}

86435111580. 360 360

Question Number : 76 Question Id : 8643513856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f
The value of {ECT . ﬁf_"ﬁ ,_] is equal to :
r= 0

Options :

86435111581, 224

86435111582, 1024

2
86435111583. s
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86435111584, 1324

Question Number : 76 Question Id : 8643513856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y (°Cr - °Cor ) Y, Dens =
r= 0
Options :

86435111581, 224

86435111582, 1024

),
86435111583. 1124

86435111584, 1324

Question Number : 77 Question Id : 8643513857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

o SR . A o ) x-2 )
S 1 ] and containing the line = is

d
(==
=
|
1
(==

line

ax +py +yz=24, then a+ B + v is equal to :

Options :
86435111585. <

86435111586, 20

86435111587, 17

86435111588. 18

Question Number : 77 Question Id : 8643513857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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x—2 1 z+1 .
2 = jy = 7 93 HEE0% L9 dotye, ﬂu'?jéa.

| 4+
Il
"
|
)

Aothdy (2,3, 1) Gny) B (@a8dono Hote G $oo ax By vz=24, 0008, a+p+y=
Options :

86435111585, 21

86435111586, 20

86435111587, 17

86435111588. ha

Question Number : 78 Question Id : 8643513858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x>+ >~ 2x — 4y + 4=0, such that the

12

angle between these tangents is tan {—w where tan™' EW € (0, ). If the centre of the
5 ) P,

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACAB is :
Options :

86435111589, 74

o |
86435111590.
86435111591, 2° 1
86435111592, 114

Question Number : 78 Question Id : 8643513858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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) ) ) N 12
x2+y2—2x—4y+4=0, &3 ai;;aggﬁje 2.8 HothP P ool ADS HEBre ek emotan” l(gw
J

2 Ao =
adX tan (? e (0,m). $HE éul@?ﬁ& CardD, & :ﬁmdﬂéaw YT AB dothye &8
$185008, APAB 58050 ACAB Sarexsine e
o)  —o e 2 —o
Options :

86435111589, 74

86435111590, - |
86435111591, 2 ' 1
86435111592, 114

Question Number : 79 Question Id : 8643513859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = % in the interval [0, 2] is :

Options :
86435111593, 2
86435111594,

86435111595, 4

86435111596.

Question Number : 79 Question Id : 8643513859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[0, 27] wodbod® $5bE6eo @wE) x + 2tanx = %#{.ﬁab 08y
Options :
86435111593. 2
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86435111594,

86435111595, 4

86435111596. 3

Question Number : 80 Question Id : 8643513860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?=4x — 20 at (6, 2). If L is also a tangent to the ellipse

2 2
iy W 1, then the value of b is equal to :
8

Options :

86435111597, 11

86435111598, 14

86435111599. o

86435111600.

Question Number : 80 Question Id : 8643513860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ | ®,
=[S
I
.

03

Soesecho P=4x-203 (6, 2) £& 950y L 058l LeId &55go
s )

Options :

86435111597, 11

86435111598, 14

86435111599. g
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86435111600. 20

Mathematics Section B
Section Id : 864351258
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351258
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513861 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. e

Let I. = x1? (loglx)™ dx, where n e N. If (20); 4= alg+ plg, for natural numbers o« and 3,
n gix) 10= gt plg
1

then o — 5 equals to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513861 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e
o T &

G - i s k!
I, = Jle (loglx)" dx, n e N @808, JFadopion a p oo (20)[)y=als+ Blg

o £
w@gtnod,a—p =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643513862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n

Let tano, tanp and tanvy ; o, B, v # ﬂ ,n e N be the slopes of three line segments OA,
2

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

" : ; 3
and its orthocentre lies on y-axis, then the value of [ cos3a + cos 3P + cos 3y

".

.
W is equal to
COS o COS 5 Cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 82 Question Id : 8643513862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a, B,y # Mn e N @ tann, tanp, tany Ome) S%hare Bge mocren OA, OB, OC ©
2

&
-
G4,
er
.E{:.ih
£9
t:l\
2
9
&
O

H

Teenen @:8%84. _"I.ABCLﬂmégraﬁﬁéulgﬁu sare Eoth

N g wm
aJCold

B maﬁf {cos 3a + cos3p + cos 3y T Gy 3
L COS . COS 5 cos 7y )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If 1, log,,(4*— 2) and Ingm[f I IS—SW are in arithmetic progression for a real number x, then
. J

the value of the determinant is equal to:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o oLl o . 2 X o By e IlS ! Y e F- - "y
a8 IS dogy x D 1, logy(4* —2) 008ai» logyg| 4+ = e o288 &od, R?]:_::iﬁdu
J

—0
L%

2
4 ? @nE) dend =
1 0 X o
x 1 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643513864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
4 JYPB™ o 3n Jogyen Mo el Japd NF DO, S DESE) &S 2n Qoge S

E - % s a =] : B 2 o o ) a o :
6 sp8Cin shiiae Ilraﬂaléﬁ Ptie0 3. o088 2n Hogyd® (Hacrdd 17 Send)dr, shiiae ndogrd®

a

i Oy af oy

So&&E° rﬁuméf: G D8

k wond k=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] — R be defined as f(x)=ax®+bx +c for all x ¢[ -1, 1], where a, b, c € R such

1
that f(—1)=2, f(—1)=1 and for x € (— 1, 1) the maximum value of f"(x) is 5 If f(x) =«

x € [—1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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a,b,ceR & f(—1)=2,f(-1)=1 edytgotwr, o xe[-1,1] &% f:[-1,1] - R 36

5 i n Wl i 1 =
flx)=ax?+bx +¢ D JEDEDow, xe(—1,1) 0B f'(x) Bns) 185 Dens 2 %Eo&)@ ol E 0.
xe[-1,1] 5 f(x) = a a8, a T8 ¥R Dewd
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 86 Question Id : 8643513866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
n
a
Let the coefficients of third, fourth and fifth terms in the expansion of (1 I —.,W ,x%0, be
X

in the ratio 12: 8 : 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
a o
{x I —,JW , X2 0 DJBeER) Soeilsd, Tres HBcin ois Stre Mesten D)é 12:8: 3 &
\ X"/ )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 87 Question Id : 8643513867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

 min {[1‘ I ﬁ],xEJ, d=zx=1
f(x) =4 '

1 2
| max «\E,x“}, OD=x = 1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:[-3,1] - Redd

f(x) jmin ‘{[I | ﬁ_‘l,xz], 3=x=0
x)=
| max {HIJIZ}J U=x=1.

3 2REIGENE 0. y=f(r) D0ED r-wfoed J02EII ITYo A wond, 6A @NE)
] 2 : .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let P be an arbitrar}-' point havf_ng sum of the squares of the distances from the planc-s

x+y+z=0,Ix—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is
x2 yz t 22=0, then the value of [ —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a8 air g dothd) Peldd Pool x+y+z=0,Ix—nz=0:5000 x— 2y +z=0 &3 SoredH

LolirTre STre Toodo 9 od@yty &otiSE ol. P anE) dothdgo a2+ 2 +22=90owd, |—n

A

BwE) Dend=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- — 2

h FAN A e A R
Let x be a vector in the plane containing vectors a=2i—-j+k and b=i+2j—k. If the

—5 A Ao

vector x is perpendicular to |3 4 2j Ir) and its projectionon a is 176 , then the value of
2
2
‘*‘ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 89 Question Id : 8643513869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— AA A — oA A = -
a=2i—j+k 0B b=i+2]—k 93 58T SOAS S0odD 2.8 H6¥ x DTl 5

[ A AoA
{.3;' 2 j Ir_.l' £ wozoMm &odar,

Q0N =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513870 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| i ' x] [0
Let A = |ra ;] and B = [;] i[[]:| such that AB=B and a + d = 2021, then the value of ad — bc
C O

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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